


Query

We are using TPS3431SDRBR Watchdog in our design as shown in the following diagram. The SET1 and WDI pins are controlled by CPU and the CWD pin generates 900 Milliseconds (max.) of Watchdog Timeout (tWD) with 10nF capacitor.
The WDO pin is connected to CPU reset pin POR_X, and SET1 pins is pulldown. 



Test observation:
The WDT is enabled by making SET1 pin HIGH and WDI pulses are not applied, after 834ms WDO asserts LOW and CPU get reset hence watchdog disabled and due to this reset delay time (TRST) remains Low for 100us only.(Please see below waveforms)
Q1. With above configuration What is the minimum reset delay time (TRST). 
Q2. Can it be less than 100us? (Like 1us or 10 us etc.)

Waveforms:
[image: ]
[image: A screenshot of a computer

AI-generated content may be incorrect.]

image1.emf
CPU

WDT

2.2K

GND

WDI

SET1

WDO

47K

+3.3V

GPIO1

GPIO2

POR_X

TPS3431SDRBR

12.2nF

GND

CWD

EN


Microsoft_Visio_Drawing.vsdx
CPU
WDT
2.2K
GND
WDI
SET1
WDO
47K
+3.3V
GPIO1
GPIO2
POR_X
TPS3431SDRBR
12.2nF
GND
CWD
EN



image2.png
0L D)

ooomy Jo15v @ ooy oy

it

834502590 7ns

T9ms 64ms
[393.7200000000 s | @ @ @ > 7
Markers Auto-ide
Marker | Horizontal 3 | || Marker [ Horizontal 3
M1 834501 ms. Mo 101020 ps 101714295 s
™2 190643 s 834802590 ms
[H 685255 s
o
AT gy

= 2 0 m I





image3.png
Control Setup Display Trigger Measure Math Analyze Utilities Help

B s Jioovs [Bandwaan) -

12075

0L . S5 BN

@=omv sy )@ foomy Jimv

©> 1

34201213 ms

Seal 293N | SeOW FuiLL

o=

236 s 185 s

50.6 ps/ |16.9993860 ps

100881642 5

e

assy

395V

Markers
Marker |  Horizontal | 3 | || Marker [ Horizontal [ 3
M1 834501 ms. Mo 101020 ps 100681642 s
L2 529555 s 834801213 ms
M3 347398 ns

= > 0 B I

T
AT gy




